17°70KRT 77 "0 XY P2 702

— 7772 5M 772 9N 702 1TITONRT
That two testified against one, and two against one

Overview

The X3 offered a case where 772m7 0°7¥ is not a W17°n; where there where two o7y
who were 07 one of the 1) 7Y, and another two 2°7v who were 0 the other
"y.! Our Mmoo disagrees with this interpretation.

= 20N NN RY TAN) TNN I3 DY 013911 %Y YWY 23D ynwvn

It seems that since there are two 2% for each one of the 1"V, it is not a w7n
that we believe the 1117, but not the 7»1A.

n1voIN asks:
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And it is astounding! What of it that there are four against two, but two 27y are
like a hundred 27y, so why is it not a w17 if there are four against two?!

mooin offers his interpretation:
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And npoIN prefers to explain this which the X3 answered that two people
testified against one, it is for instance where the °231°1 are not assisting each

other; meaning -
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That one, is not aware of his friend’s testimony, where for instance one witness
observed (the murder) from this window, and the other witness observed it from

another window; each 7v was not aware of the other 7v at all -
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!'See >n "7 >"wn. In this case it is two against one, so the two should be believed.

2 See footnote # 1.

3 Let us (even) assume the following. The two (7m7) 27V, testified that they saw the murder take place in 7°2y, on

1w ', Two o7y testify that on 7w 11""9 one of the 1"y was in nNo¥, another two 2’7 testify that the second 1"y was in

o°hun. Nevertheless, it is not different than any other case of 1"v. The two 1"V maintain that they both were in 7>720;

four other 07y maintain they were not in 77°720, so it is two against four which is the same as two against two; it is a

w171 that we accept the 1 and reject the 1.

“In this case the two 1"y are not testifying that they were both there, since they could not see each other, so they cannot

testify about the other 7v. It is the word of one 7¥ against two 0>7¥ therefore the 717 is not a wi7°n.

3 One 1"y testified that the M? admitted to him (on 1wn 1) that he owes the M?» money. The other 1"y testified that

the M7 admitted to him (on 1Wwn '2) that he owes the 7% money. These two testimonies are combined and accepted.
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Or in a case of one admittance after another admittance -
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And these same two 237 can be 2% both "'y, since it is the same whether one

set of 0°7v are 0’11 both 1"V, or another set of 0>y are o>m the second 7V -
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And the X773 did not utilize this expression of 772 >N 772 °7n to mean that we
require two sets of 2’1 one for each 1", but rather because from this expression
of 712 M 712 N, we can infer that the o721% (the 1Y) are not assisting each
other in their testimony.

Summary
The two 1"¥ are not supporting each other as to the time and place of their testimony.

Thinking it over
According to 50N the X713 should have said *X77 XRN17702 °Ri7 °Y7° K27 120 (that one
7v was not aware of the other 7v), then it would be clear; why make a statement of

712 °3M 712 "0, which can easily be interpreted differently?!

Then 2°7v came and were 0> both the "9, each one on the day he claimed to hear the admission from the 717. Here

too it is not *M *7n since each 7Y knows nothing about the other 7¥. It is two against one.

61t is always two against one since the P >7 (the 1"'v) are not testifying for each other.

7 moo1n is replying to the anticipated difficulty, since according to M99 one set of two 0>7¥ can be o both 1"y, why

does the X713 state 7112 *IM 7172 °n, indicating that we require two sets of 0°7¥ to be 2 the 1"v. See ‘Thinking it over’.
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